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You wﬂz riot. big alldwad to wrzte dwing zhe ﬁrst 15 mmufea |
THhiS time i3 to be spent in:reading the guiestion: paper.

rldederdeoden

Answer all; questxons fram Sectian Aand- dny four questions Jram: Section B.
All working Incliiding rough work, mist bé éleardy shown dnd. fmISt be‘ done

bR the satiie $heet ds the.rést.of the arswer. - .
‘Qriissicn oj‘essenttal working will result in loss af andrks.

. The.miténdéd marks forquestions or parts of questions-are givérin bmckefﬂ iy

- eT.

Muthﬁmntical tables. und squared ,sheats are valded L

77 SECTION A (40 Marksf
' Answgr dll questions from. *th;s Seétz'én '

£ v
s . : 5 » . .
e L » T ! Ha . pe .

Question 1 |
{a} TEAF [. Z ]B‘ [: J and gwen QAX = B . o
(i) Write the order.of matrix X | 5

»(i) Fmd matnxX

| by . Mr Davis has’ ?1 cumulauvc dcposxt dceount in HDF‘C Basik for two yedrs_
. at’6%-p.a. s;mp)e interest, If he gets ?1200 a8 mterest at'the tifue of |
maturity, fi find ; : _

(i) the monthly mstalmcnt (i) the ma,mred valu¢,

+{e). | There ate fwo; cﬁce, orié réd and the othcr black. Both az'e rolled
' SImultaneousy ' :

' Fmd the: prcbabilxty that: - o
(i) - ‘thenomberon the red dice is ezt.ht‘r 3 or 5
) - the ntmber oii the black dice: is 4 .. SR

N

(m) . ‘each:dicc shows five T
(W) ~ the product of the numbers a}}peanng Ol‘l the fop Q{ _the dlcc is
-"lessthang e : |

2Tt :
il Biness

wrly M
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Queation % o | o 7
T “  with ywater up to
@ A cylmder having hexght and dmmeter 14 cm, is filled Wf'ﬂ;}”i:;&zf _
- thié biim. Four equal solid sphetes are placed into it. The dia What ol
each sphere is equal to-the radiug of the basc of thc cylinder. What g
fraction of water overﬂnws? e . I TR 4

1
'

). Mrilal took a loan of ?80 000 to buy 2 foLoT bike. He repays his total

loan by payingevety month starting with the fitst instalment of 31000,
i he ircreases his jnstalmént by T100 every month, what amount wilt

be:paid by him inthg 248 instalnent? What anjount of loan does hg - B
: stﬂi have to’ pay after the 94t msta.lment? L o B

_. 1‘;“1 B Q? R andl § are points on the cucumfmnce of the gwen cmﬂc
- TS.is the tangerit to the circle at the poiut S.

- ZRS8T = 35° ZORS = 101° L T ‘ M
- Find the magnitude of - - tﬁguré not drawnmn to scale}

(i).Z£ QPS I L. e .

{ii).£ SQR

@)ZoPR .

AW 7o mangy
Shop Has. 7 T 1 utsav,
Thakur Vidag, | s,ﬂ".f_’ud i (E),

Mumbai - 459 i,

Mob. 5621283050, -
Qucstion 3 | | o | .
.{a')' - Usmg factor théorern factonse thbfolla‘wmg polynomm. CTa 3!
LR 10 37V+25 - B R . , as D, om e

(b} ~Prove the followmg ldentxty" S
(1 +ccste cosccﬁ] [ 1 +tan9+secﬂ] 2

(ﬁ(;:)» ~ Write. down the. COITCCt altema.uve in each of the followmg
- "~ iy The median of the first 10 prlznc numbers i

LRI NS A R o

1“) Ifthemeanofﬁ’{xS,y,Ith then
(a)x+y=21 (b) x-y=19 tc]x+y 19

(ﬂl X-ysadp o
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(iv)

For the foll owing distribution

Below

.

Nuirber of

i

studerx'ts

w3 0l 1w | e} sz | 73| Tse b

Cther modal claso. i's

@) 10-20 (o} 20-30 . (¢ 3b-40  ()50-60

IE.35'is removed fromi the data ;:30, 34, 35,36 37 38,38, —:G then the
median inereases by

@2 ) L8 g1 g s

| Question 4

(a)

(b

Qgeétiun 5

@

: {fv) Write down the eqitation of QQ‘ .

Solve the followmg 1neq3.xatmn, wnfe dQWn the sol“utxon sef and re*nresent

it on the real numbcr Bine. N : - ' &) .' |

~T

.--<:_.+ =
N i 1< xeR

The first'term of 4 G.F. ig 1, The sum of the ﬂnrd. and fifth. terms is 96.
Fird the common ratio and srite. down the GP: : 81

Use graph paper for thisquestion. E | 141

Plot P ( 2, 4) Q(.g I]andR(5,0}usxngscale2cm=1umtonbdth

axes.

() Reflect Pand Qiny= 0 1o get pr 'anch #nd write ﬂ*eu'
. coordinates. > i o
(if)- Givea geomcinca! name fo the. ﬁgure I—”QQ’P’R
(i)}  Find the area of thg fgure.

| SECTION B -
(Answeronfyfour) PR

" s

" 1 -4 -is a root of the qua,d‘rabﬂ cquanon %2+ px - 4 = =0Q; lind thcva]ue of
" P. Given that the quadratm cquanon *2+ px + k= 0 Has \equal TQOtS;,

":nmdthevalucofk . A S , PR [31
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(©)  Use graph paper for this. qd&stion Take scale ¥ cm = = 1 ypit on bOth G
Plot A (3,-2YB (2,1} and C[10,3)
) Const:uct the loous of paints at a distance of: 5 cm fromx A,
@) . Construet locus-of pointy equidistant from B and C.
(i) Lacate pointP such that PB = PC and P isat a dlsmnce of 5 cm
| - from A, Wntn down thg. coordxmtc,; of P '

pe—
—

(¢} 'Mr. Prasadi mvcsts ¥9,600 in 5% 2100 shares ata dxscount of 3520. .
After a year he- sold these shidgres at 790 each and itivests the progeeds

lincluding his-dividend) in 9% 250 shares at £57. Qalculat¢ . - 8]
(i  his dividend forithe Grst year, S T

i gi} his annual incone iry. the second year,-
(n_l) the ’percentagg mérease in His return on His. original niv'estment

Question 6

e XERyE , ' | A R
@ e =2 fmdthe valuesof () x: vy @S *"3 o 131

sing properties of:;pmpoxﬁnn:,

{5)  Find the numiber of two digit:numbers grcater than 50, whxch wheri

d,x_vxded by 7 1eavcs a rcmamder.4.. Also find theu‘ sum [3]

iC} . .Gwcn P (1 213—,(1 S (.3 0) Pd"ndcs QQ 1iy; the ratio 2 : 3 and OPRS is

a parallclogram Firid L _ _
(i) thecoordinatesof Q- - . , oo R | {4
(i) the coordinates of R .+ . | X .
~{iti} - theequationofalive ... ..., - - -
- thrsugh Pparaﬂeltoﬂle AR, k|
| y axzs '

. ”‘F”’ rwgﬁﬁﬂ' - RS @Gey Bf —T————X

Scanned by CamScanner



(3) SO‘Ve the quadratic requation 3xz - -7 =0 ﬂnd,g'_i,?t_: your dniswer o
; corredt to. 8 mgnlf'czmt figures, , - : R i3]
o From the given araph il ProvaaA0H - ~ A COD E e - 81
L | AreaofA A0B | |
g i1
{ } Find Areaota coD

‘w

AR (DEPOT
Shon lvo. 4, Fan :*,’1 V:zvamuuav
Mﬁf \!Vd\v i ﬂ(.lla“ (E),

Mﬂbm s 400 1014 / ’
\Mob, 9821263050, o )
X 2 > X
. [e] " Proye ﬂ;g-’f:@:ﬂjﬁwwg jdentity: - [4]

: . o

Fx-cqsﬂfsl.nﬂ “ ~ 1-¢os8

L1—pg§$ﬁf;h~.’6 ' 1+cosB
A

Tfy is the mczm propartion betwecn x and z,; show: that

3
[xy+yz+zx ] » ”
[ xeyiz | T AE

)

s o i e
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(b}

Draw a lirie segment AB of lengtii & om, Taking

of taditis 4 cm and taking B as cefitre, draw

3 em:. Canstruets tangents AX and AY (o

A .ag centre, draw g clrcle
anothier &ircle of ragj.
ihecircle with B 48 cefitreandg

ONSEAICt tangents BM snd BN to the citele with A as centre:

Mezsure and record the lengths of each tangent.

) - Ayanihasa cumiiative deposit account of $340 per month:at 6% per
‘ annum, 1f he.gets ¥7157 at the timie of matywity, find the tatal Hnie.
for whichi the acoouint was hield, |

Quéstion v

)

)

©

Ha=

sec60°

l—3tanss™

scale of 1 : 5000.

{i))

c0s 907 LiB

:5in 90

'.é:i[i"_”'

" “Ewvaluate B x A without using log tables,

0 .

n30¢ 3sin90°

cot 45

anptira willage is.sipuated 3 km away from Dhule district-in -
Maharashtra Stafe. Google maps on whi

ch they-are shown {s drawnto a

{ii Calculaie thedistancé between the twovillages in-cm on the map.
On thie map a rectangular paddy field has-an-area of 5. cm?. -

_ Calculats the actual afea of the: paddy field in square metres,

The i’dll‘dﬁi"jﬁ g table gives the gjuck’ét money
 Chulé¢ulate the mean

mc.t‘hqd.__ e

, ket money of 200 students in Std 10, -
i of the following distriution by step - deviation - -

~ Pocket
money:
inx

100-~159

180-200"

200-250.

250-300

360-350

@50-40D.

400-450. |

'No of
students

10

14 -

28

a2

30

. Caleulate the new mcan if the: pocket méngy-.mmgm; by-22 1 50
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8] -

i’) iy eleétncian has to tepair an electnc fault on A electnc pole of hexgbt '
' 10m. He needs to reach a point 3. It below the top of the polé in oider to-
undertake ther epair woik, What Shduid be the lengthi of the ladder that
he should usepwhich when inclined at an arigle:of 60° to the horizontal, -

would -enable him. 1o reach the required posmon? Give your answer
: cerrect to the nearest metre, Take V3 = 1.73

) In the ﬁgure given below diamicter AB and chord CD of gircle with

o " centrs. O intersect at P. PT'isthe tangcnt to the cirele at T CD =15 cin,
.- DP= 12 cin, BP =6cm, find ;

(i) tl;e;ad1usoiﬂlecxrcl¢;. B e S T -
G the length of the tangent PT.

'shakhf \”& u_ N RSt
mdmbc\ -?39 '!{H . |

A/ o B Y

2
:'.1
G
[
{.‘
-
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Question 11 -

Ater. A 8 here which
(@) A coneofradius 9w and height 12cn is fuii-of wutc;SCdI:ﬂ It Birs d [4}

exactly fits and touchps the sidgs.of the cone is imm :
(). . theradiug of the sphere ) . "

) - the fraetmn of thc: vmw that overﬂows

—— ..NB'F‘-"”—
TEEA Ben W -
Bt o pe s EE s &
% w B o
’éo
3
(b) - Usea graph sheet fo.answer this qliestion.
. The following table gives the record of 'weight in kilograms: Qf studcnts
résiding in a -boarding house. Taking scale:2em =10 Students on ong axis
#nd 26m = Skg on the aother axis, draw an. ogive for- the- gwgen
-distribution.. [}
Weights. |, :’s 4-5---5’6 | so-»ss'.‘."ss:'.ad ST By S W
Cinke | .40.—4._.,_ 1550 |- 5055 | 55-60 | €9-65 | 65-70 | 7075 | 75:80 P
stadents| 5 1M ] 2 | 4 | 51 ) @ | g0 )

Use yoiiz oglve to estimate the following «

6
(i)

(iv)

The median weight

* The percentage:of students wexghmg 55kg ormore.
The number of students who are’ overweight. 1f 57 Ské is

* considered as the standayd; weight.
. The weight abovc whmh the heawnst 30%

ol

of thc student$ fall, -
e

A 20000
oyl

155/04.01,2019

-
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